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Wrile am eqUa»Lcmo'Pa g uJ\/Pom{“&lop@ Farm
Thewt Convevt e eguakan to Slope ~Tntercaph Fom

® M= 3, passesth. (5,-2) @ m= 5 panth. (-39

Gm=%4, pas.th. (0,8 @ passth. (-, £(g,-2)
& pass.th. (6,0) € (0,4)

Wnte am equaken of a Ume w Pont ~Slage Farm,,
Slope = Twlercopt Torm € Stamdad Form .

@ m=2; pass. H. (),3) @ m= 3 pas. th (64

® pass. th. (-2,0) & (6,~4)

Answcx?:‘-

© 3+&=3(z~s) & 3+5=—‘g (x+2) & Yy-8-= z’7><
Y=3x-1% y="3x—0 Y= gx+8

@ Y-F=-1(x+D) OR Y+a=-lx-e) © 3='3a‘(%‘l°) R 5"‘12‘%*

YW= ~X+6 Yy="3x +

@® y-a=3(x-1) @ y=d=5(-L) @ Y+d=-a4 on
Y= 3~ Y= 3x+I Y= -a(x+a)
Xy X=ay=~2 Y=-ax-9

ax+y=—¢



